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22 3&(Versicolor, Setosa, Virginica)X| CHSH sepal(Z2HE] Z=2f) 20|, 10|, petal(E!) Z0|, 10| 4|0|E{0|Ct
t

4 Al 2% 350 E = (petal) Z20[2| Xt0|7+ A=K| LOHZAL,

import pandas as pd
iris=pd.read_csv('https://vincentarelbundock.github.io/Rdatasets/

csv/datasets/iris.csv')
iris.info()

RangeIndex: 150 entries, 0 to 149
Data columns (total 6 columns):
Column Non-Null Count

Unnamed: 0 non-null

Sepal.Length non-null
Sepal.Width non-null
Petal.Length non-null
Petal.wWidth non-null
Species non-null

S|IAETE 2|7

import matplotlib.pyplot as plt

import seaborn as sns

f, ax = plt.subplots(figsize=(11,9))
sns.distplot(iris.loc[iris['Species']=="setosa', 'Petal.Length'l],
ax=ax, label='setosa')
sns.distplot(iris.loc[iris['Species']l=="versicolor', 'Petal.Length
'], ax=ax, label='versicolor')
sns.distplot(iris.loc[iris['Species']l=="virginica', 'Petal.Length’
], ax=ax, label='virginica')

plt.title(‘Histogram’); plt.legend()

Histogram

setosa
versicolor
virginica

T —
4 5

Petal.Length
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LHR&XF 32(7] : O] TIE

import seaborn as sns
ax=sns.boxplot(x="'Species',y="Petal.Length',data=iris)

Petal.Length

T T
versicolor virginica
Species

Z3E £9 Z0|= VIB0| 71 Z11(He 0.552) SEZO|(Eet 0.174) 7Pt ATt

import pandas as pd

iris=pd.read_csv('https://vincentarelbundock.github.io/Rdatasets/
csv/datasets/iris.csv')
iris.info()

Species
setosa 50.0 0.173664 1.0
versicolor 50.0 0.469911 3.0

virginica 50.0 0.551895 45

import statsmodels.api as sm
from statsmodels.formula.api import ols
y=iris['Petal.Length']
results=ols('y~C(Species)',data=iris).fit()
sm.stats.anova_lm(results,typ=2)

@ HNU Dept. of Statistics http://wolfpack.hnu.ac.kr (10/17]
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af F PR(>F)

C(Species) 437.1028 2.0 1180.161182 2.856777e-91

Residual 27.2226 147.0 NaN NaN

[2210] A, B S 7Hol A2

Type 1 : (sequential SS) BE0| ARSI Q01 2ACHZ X4t 52 (SS(A)-SS(B|A)-SS(AB| A, B))
Type2: SS(A | B), SS(B|A) Z&miat 24

Type 3 : (partial S9) SS(A |B,AB), SS(B |A,AB),SS(AB|A, B)

Eéozlle:M+Al+€U

results.summary()

Intercept 14620 0.061 24.023 0.000 1.342 1582

C(Species)[T.versicolor] 2.7980 0.086 32510 0.000 2.628 2.968
C(Species)[T.virginica] 4.0900 0.086 47.521 0.000 3.920 4.260

2B 2 setosa 2 20| Wt 146207 |= E7=F Wt 5¢)), versicolor &= Wit Z0|= 1462+2.798=4.26,
12|10 virginica 29! 20| B2 1.462+4.09=5.5520|CtCESH| D : Tukey HSD

from statsmodels.stats.multicomp import pairwise_tukeyhsd
from statsmodels.stats.multicomp import MultiComparison

= MultiComparison(iris['Petal.Length'],iris['Species'])
mc_results = mc.tukeyhsd()
print(mc_results)

Multiple Comparison of Means - Tukey HSD, FWER=0.05

groupl group?2 meandiff p-adj lower upper reject

setosa versicolor 2.798 0.001 2.5942 3.0018
setosa virginica 4.09 0.001 3.8862 4.2938 True
versicolor virginica 1.292 0.001 1.0882 1.4958

ZO0| xlo[(meandiff +0|22 VEZS| £% ZO0| )= Rel&

wn
m
O
H
<
m
oH
mﬂXﬁ
KO

(True) —iﬁHH
=M, Ax RE Kolst X0|7t lesz VIE(5.55) > VEE(4.26) > SEZ(1.46)
=02 ZQlo| Zo|7l |9l§t Xt0|E HO|1 QCt,
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i1 291 AQ| £ FXE j+ 291 BO| 47 FAL k- HH EA}
- QOIASE T q, Q2 BAE T

201 BO| 4 jo| k-4 257

u
« & maineffect: A, B

. A'S S}t interaction effect : A B

L Y
Q01 A9 i HEHSZ) PBZ 4 + A, - 24 744 a 7H R (u+A)—ZZ S =5,

_ Yijk
901 BO|j Tlet RER 1 + B,- D474 bW HEHA 22 — =7,

- 991 A9 | TIEHAF), 291 Bl j Fct 2Ry + (AB),;- 24 W4 ab 7

il Al
PSEPSIN ‘AB)..) = ik _
OoTo (/’t +( )l.]) - - Jij
PRRLT
Ool(aio
QP2IA
©
T T
29018

HEENAB + FEIA
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SHSSST= Y > Y (e —3:)°
i j ok
20IABSSSA= Y > ¥ (5, -5.)
i k

Lo
X s SSE = Z Z Z (Vi + )_’ij_)z
i j ok

0l &gt ARE YrAsy F-SAZ
Sum of Squares df Mean Squares
i} MSA
QeIAFE SSA a-—1 MSA —
MSE
_ MSB
2B =1t SSB b—-1 MSB —
MSE
_ MSAB
QI AB ds=3t SSAB (a—1)b-1) MSAB
MSE
QXAT SSE X0 MSE
+d85g
Corrected Total SST n—1
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>

= 25
f

S % 8IS HES TORP| 25101 25 5 Wkt At eI IS FHBIAC

» AIEH=0] £=&=2 : Height: O if step at the low (5.75") height, 1 if at the high (11.5") height

y 2= HIE 2~ZF=3: Frequency: the rate of stepping. O if slow (14 steps/min), 1if medium (21 steps/min), 2 if
igh (28 steps/min)

» o= AEHO| BHEF: Rest HR: the resting heart rate of the subject before a trial, in beats per minute

y 2= WEFHR: the final heart rate of the subject after a trial, in beats per minute

S

ro” 1|Er_:-t:o| OEI:IlE] oo|o| OZ i <=1 7<'—7F7

y DO o= T 11—

import pandas as pd

df=pd.read_csv('http://203.247.53.31/Stat Notes/example_data/Heart.csv')
df.infol()

RangeIndex: 30 entries, 0 to 29
Data columns (total 4 columns):
Non-Null Count

non-null
Frequency non-null
RestHR non-null
HR non-null

Box Plot 12|7|

import seaborn as sns
sns.boxplot(x="Height",y="HR",hue="'Frequency',notch=True,data=df)
plt.show()

| Freguency
. 0

<
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from statsmodels.graphics.factorplots import interaction_plot
fig = interaction_plot(df['Height'],df['Frequency'],df['HR'])

1 Frequency

[=4
pu
-
5]
c
m
o
£

df.groupby(['Frequency', '"Height']) ['HR'].describe()

count mean
Frequency Height
0 0 87.6 9.099451
1 103.8  10.521407
94.2  8.899438

114.0 21.000000

108.0 16.703293

136.8  13.349157
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RSSO0 R2I3t BB 0IXI04 Al 207} £ 842 9HS50| £OITICE R2I2HE <0.001

import statsmodels.api as sm

from statsmodels.formula.api import ols

y=df['HR']
results=ols('y~C(Frequency)+C(Height)+C(Frequency):C(Height)', data=df).fit()
sm.stats.anova_lm(results,typ=2)

sum_sq F PR(>F)

C(Frequency)

3727.8 9.551115

C(Height) 3499.2 17.930822

C(Frequency):C(Height) 210.6 0.539585

Residual 4683.6 NaN

0.000888
0.000291
0.589898

NaN

results.summary()

coef stderr
Intercept 87.6000 6.247
C(Frequency)[T.1]

C(Frequency)[T.2]

C(Height)[T.1]
C(Frequency)[T.1]:C(Height)[T.1] 3.6000
C(Frequency)[T.2]:C(Height)[T.1]1 12.6000 12.495 1.008 0.323

\?% HNU Dept. of Statistics

6.6000 8.835 0.747 0.462
20.4000 8.835 2.309 0.030
16.2000 8.835 1.834 0.079
12.495 0.288 0.776

P>|t]|

http://wolfpack.hnu.ac.kr

[0.025 0.975]
14.022 0.000 74.706 100.494
-1.635 24.835
2.165
-2.035 34.435
-22.188 29.388
-13.188 38.388

38.635
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Sui4 20l Chet 20159| R2I4 HBES HCHR 57| 918 D2s]= HEHETH #14)
Ut o Ftigo| Alal F 20|k (Of) BEETOIAC] AFEHEIS

Tuizre POl 0| OILIZE 2919 RoI ZFS FEIGH | SIsi0] Ife: B4 ROI3HC

28 BEMEN

+ Gl £0)), (25 i) - 29

ELHS 25 5 ATUS

import pandas as pd

df=pd.read_csv('http://203.247.53.31/Stat Notes/example_data/Heart.csv')
import statsmodels.api as sm

from statsmodels.formula.api import ols

y=df['HR']
results=ols('y~C(Frequency)+C(Height)+C(Frequency):C(Height)
+RestHR',data=df).fit()

sm.stats.anova_lm(results,typ=2)

23k, =0 =N folstl dssit= ROISH| Gt

PR(>F)
C(Frequency) 4019.033862 . 17.126951 0.000028

C(Height) 1799.423568 .0 15336342 0.000693

C(Frequency):C(Height) 213.719291 ) 0.910756  0.416242

RestHR 1984.994148 . 16.917945 0.000425

Residual 2698.605852 ! NaN NaN
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